
Service Parts Catalog Contents

PageSet 6

Body

450 Compartments

BATTERY

_____________________________________________________________________________ 1

_____________________________________________________________________________ 2



Models: C4RE
BATTERY

Service Parts Catalog

Key PartNumber Qty Description Comment

450 Compartments
Page Set PS0005269

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
BATTERY

Service Parts Catalog

Key PartNumber Qty Description Comment

450 Compartments
Page Set PS0005269

1 0035824 BOX ASSY,BATTERY,HEAVY DUTY

NI 0022924 TRAY ASSY,BATTERY BOX,HEAVY DUTY

NI 0049206 TRAY ASSY,BATTERY BOX,HEAVY DUTY,SS, FEATURE 30887-01

2 0610725 14 CAPSCREW,HEX HD,5/16-18X1 1/4,GR8,

3 1465954 14 NUT,HEX HD,5/16-18,LK,NYLON INSERT,YEL 

4 2001048 14 WASHER,FLAT,11/32 X 11/16 X 1/16,YEL 

5 0034722 BRACKET,MTG,BATTERY BOX, C4RE

NI 0039776 DOOR,BATTERY COMPARTMENT,C4RE

NI 1762244 SUPPORT,DOOR,SPRING,EMERGENCY EQUIP 

NI 1814474 LATCH,ADJUSTABLE LEVER,THICK GRIP

NI 0006499 ANGLE,BATTERY CLAMPING,FINISHED,21.75

NI 0929018 14 WASHER,FLAT,21/32 X 1 1/8 X 3/32,HDN,YEL 

NI 0962753 2 CAPSCREW,HEX HD,1/4-28,X,1,,GR5,YELDICH

NI 1039262 2 NUT,HEX HD,1/4-20,LOCK,ZINC

NI 1072263 6 BEARING,CAM FOLLOWER,RBC H-32 L

NI 1091248 4 BOLT,BATTERY TIE DOWN,5/16-18 X 8 ZINC

NI 1159532 2 PIN & CABLE ASSY,RETAINER BATTERY TRAY 

NI 1268119 2 SCREW,1/4-20X1/2,F,PH1,PAN HD,YEL ZN DICH

NI 1489434 TRIM,VINYL,BLACK,DOUBLE LIP

NI 1418201 PLATE,STRIKER,BATTERY CMPT,BAT DISC SW 

NI 1582683 ANGLE,BATTERY CLAMPING,FINISHED,24.50

NI 2001501 6 NUT,HEX HD,FINISH,5/8-18,YEL ZN DICH

NI 2021541 2 CLAMP,LOOP,.687 X 1.374

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
BATTERY

Service Parts Catalog

Key PartNumber Qty Description Comment

450 Compartments
Page Set PS0005269

NI 6022594 LINER,BATTERY TRAY,STD BATTERIES, QB STANDARD, BATTERY

NI 0050908 BOX ASSY,BATTERY,HEAVY DUTY, C4RE

NI 1071992 4 BUSHING,SMALL CAM FOLLOWER,WLFC

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
BATTERY

Service Parts Catalog

Key PartNumber Qty Description Comment

450 Compartments
Page Set PS0005270

2 - 8 D BATTERIES

NI 1091248 BOLT,BATTERY TIE DOWN,5/16-18 X 8 ZINC

NI 2001444 NUT,WING,5/16-18,YEL ZN DICH

NI 2001055 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZN 

NI 1582683 ANGLE,BATTERY CLAMPING,FINISHED,24.50

NI 1146778 PANEL,SPACER,BATTERY,ROLL OUT

NI 0659979 3 NUT,HEX,FLANGE SER,1/4-20,BLACK ZINC

NI 0530436 3 SCREW,MACH,1/4-20X3/4,PH1,RD HD,YEL ZN 

NI 1514165 ANGLE,BAT STOP,8D

NI 0014244 BRACKET,MTG,SUPPORT,BAT CABLE CLAMP,H/D

1 - 8 D BATTERY

NI 1091248 BOLT,BATTERY TIE DOWN,5/16-18 X 8 ZINC

NI 2001444 NUT,WING,5/16-18,YEL ZN DICH

NI 2001055 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZN 

NI 1582683 ANGLE,BATTERY CLAMPING,FINISHED,24.50

NI 0014244 BRACKET,MTG,SUPPORT,BAT CABLE CLAMP,H/D

2 - 4 D BATTERIES

NI 1091248 BOLT,BATTERY TIE DOWN,5/16-18 X 8 ZINC

NI 2001444 NUT,WING,5/16-18,YEL ZN DICH

NI 2001055 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZN 

NI 1582683 ANGLE,BATTERY CLAMPING,FINISHED,24.50

NI 1526565 PANEL,SPACE,DUAL 4-D BATTERY,ROLL OUT

NI 0014244 BRACKET,MTG,SUPPORT,BAT CABLE CLAMP,H/D

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
BATTERY

Service Parts Catalog

Key PartNumber Qty Description Comment

450 Compartments
Page Set PS0005270

1 - 4 D BATTERY

NI 1091248 BOLT,BATTERY TIE DOWN,5/16-18 X 8 ZINC

NI 2001444 NUT,WING,5/16-18,YEL ZN DICH

NI 2001055 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZN 

NI 1582683 ANGLE,BATTERY CLAMPING,FINISHED,24.50

NI 0014244 BRACKET,MTG,SUPPORT,BAT CABLE CLAMP,H/D

NI 1091248 BOLT,BATTERY TIE DOWN,5/16-18 X 8 ZINC

NI 2001444 NUT,WING,5/16-18,YEL ZN DICH

NI 2001055 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZN 

NI 1374545 2 ANGLE,BAT CLAMPING,FINISHED,16.33

NI 2000669 4 SCREW,1/4-14 X 3/4,TYP1,PH1,OVAL CNSK,YEL

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number




